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Physics 504, Lecture 9
Feb. 21, 2011

1 Ionosphere, Redux

Let us return to the resonant cavity formed by the surface of the Earth a
spherical shell of radius » = Rg, and the ionosphere, treated as a spherical
shell of radius » = Rg + h. We will treat both as perfect conductors, though
by lab-scale standards they are far from that, so the fields will obey H, =0
and Fy = E4 at r = R and at R = Rg + h. Between the shells the fields
obey Maxwell’s equations, and because our equations are linear and time-
independent, we can work with one fourier mode at a time, assuming all
fields are o< e~ We will treat the region between the shells as vacuum, as
the permittivity and permeability of air differs little from €, and pg. Thus

VxE=ikZyH, VxH=—i—FE, V-E=0, V-H=0,

where k = w/c is not exactly a component of a wavenumber, but what it

would be for a plane wave, and Zy = (/ug/ep and ¢ = 1/ /o€y are the
impediance of free space and the speed of light in vacuum. Then

T (i) =T x (-ig ) = A
0

—

but as V x (6 X V) = 6(617) — V2V for any vector, and as V-H= 0,

we have
2 2\ 77 val 3 = o 7
(V2+#*)H=0, V-H=0, and E = i72V x H.
Similiarly we can derive

. I . 1 -
(V?+k)E=0, V-E=0, and H=—i—V x E.
kZ,
In particular each cartesian component of E and H obeys the Helmholtz

equation, but this is not convenient for a spherically symmetric situation.
But just as for waveguides we could consider the z component of one of £
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or H to determine the rest, the analogue here is the radial component, or
rather 7- A where A is either E or H. In general,

Y. o 02 o2 DA, e e o

But for either E or H , the divergence vanishes, so
(V2+#) (F- E)=0,  (V>+k) (7 H)=0.

We will define two modes, a magnetic multipole field for which - E = 0, and
a electric multipole field for which 7 H = 0. Whichever one is not identically
zero must satisfy the Helmholtz equation, which can be solved by separation
of variables. Either

— 000 +1 -
A M o 6, B
= 00+1 .
or 7 B = -2 10 0,0, FOEE

We recognize the spherical harmonics from Quantum Mechanics, the solu-
tions of the differential equation
1 0 0 1 02

sin 6 90 Smgae + sin? 9802] Yim = (£ +1)Yim.

Actually we can be more intuitive, for we know from quantum mechanics
that if we define the operators

- 0 0 0
L=-— Ly =L, +ilL, ="+ — L,=—i—
zrxV + 1 e < 89+ZCOt66¢> . 28¢’

that in terms of these, we have

LYo = J0Fm)(Em A1) Yo pmar,  LYon = mYom,  L?Yi = ((04+1)Yy.
Dotting  into the curl equations we have
ikZor-H =7 (Vx E)=(fxV)-E=iL-E.
Thus for the magnetic multipole field
L- Eénﬂf) = kZyr - H= Zogz(kT)LQYZma
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which at least hints at

E(M) = Zogf(kr)inma

tm

m
rest of the fields in a magnetic multipole are

Also, this is consistent with 7 - EM —0asi L =—ir- (Fx ﬁ) = 0. The

7 (M) _ M)
H,, = kZOV X Ezm .
This magnetic multipole field configuration is also called transverse electric
(TE), as E is transverse to the radial direction.
Of course a similar calculation determines the fields of an electric multi-

pole, or TM mode. Then

A = fuokr)LYun (0, 0), (1)
- Zo = - 7y = -
) = iV x Hy) = 20 x (7% V) fulkr)Yeu(8.9). (2)

Now! V x (Fx 6) = 7FV? - V(l—l—rﬁ
or

If we now want to extract the transverse piece of the electric field, we can
note that

P x B = 20k <FV2 Y (1 + r%)) Se(kr)Yem(6, )
= 2 9) (141 32) 10 Yinl0,0)
~ 2 (1002 sian)] [0

First note that for ¢ = 0, the entire magnetic field H® or the entire
electric field E™) vanishes everywhere, but then, for k # 0, so does the
other field, so we have no mode of oscillation. For ¢ # 0 the angular part

1 (6 x (F x ﬁ))i = €510 €nemTeOm = (03¢0 ;m — Gimdie) (8;00m + 100;00m)
= 0= 30, +7,V2 = (7 V) 0, = V2 — 20, = 0, (7 V) + 0,

= ’I“ivz —0; (1 —I—T%)
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Ingm(Q, ¢) will not vanish, so vanishing of the transverse parts of Eéf;) re-
quires (1 + r%) fo(kr)=0

So the conditions for our resonant cavity requires either g(kr) or f(kr)+
rdf /dr to vanish at both r = Rg and r = Rg + h.

The radial part of the functions comes from the separation of variables.

As
_82 2 0 1,

o2 T ror 2
the radial dependence of an (¢, m) mode, which is an eigenfunction of L?
with eigenvalue £(¢ + 1), satisfies

v?

? 20 (L+1
<w+;5— (7’2 )+k2>gg(k‘7’):0.

The same equation holds for f,(kr). It turns out the solutions are spherical
Bessel and Hankel functions, which behave somewhat like sin(kr) or cos(kr)
dampled by 1/r. Thus it is easy to make combinations of these which will
vanish at the two points, if we have k of the order of 7/h. This corresponds
to a frequency of about 10 kHz, well below radio frequencies. Thus radio
frequency waves can be considered in the geometrical optics approximation,
(i.e. ray tracing) appropriate when the wavelength is short compared to
the dimensions of the geometry.

But we are also interested in the possibility of much longer wavelengths,
comparable to the Earth’s radius. The book’s argument is not very clear, so
let us examine the radial equation

& 2d , ((l+1)
<$3+E%+k_ ) ) =0

which is also the equation satisfied by g¢(r). There are several useful ways of
transforming the equation, by setting x = Skr and

o8Bk
ff(r) = uzkﬁﬁk(gar)
d? 2 d 1 g(f—i— 1) Ug,aﬁ(l') B
:>&@*;@+@— e ) el

> 2(1-a)d 1 ala—1)—L(L+1)
:i&ﬁ+_?_%+@+ 2 Heasld) =
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We will consider two useful choices of @ and . First, let o« = 1/2,6 = 1,
giving
> 14d (0 +1/2)*
(@ ettt T Jrenl®) =0

which we recognize as Bessel’s equation with v = ¢ + %, with solutions
Joy1/2(x) and Nyiq/2(x), the Bessel and Neumann functions. These func-
tions are well understood, but we also can define the spherical Bessel and
spherical Neumann functions

Jo@) =\ [oTeap(@), ) =\ 2N (a)

7T .
B (@) = 5= (Jesajale) i Nepaa())

Another interesting choice is « = 1, § = 1/4/¢(£ + 1), so the equation

becomes
d? 1
@‘Ff(fﬁ-l) (1—;) Ug:O,

and the boundary conditions at the ends of the interval, kR and Sk(Rg+h)
are (14 rd/dr)(u(Bkr)/Bkr) =0 = du/dz with x = Bkr. We see that if the
range of x is such that 1 lies roughly in the middle, the second derivative will
change sign, and it is possible to fix things such that du/dz = 0 at the ends
of the interval with very little variation in u(z). To lowest order this would
ask to have Sk(Rp + h/2) =1, or

((0+1) w c Vil +1)

Note the same possibility does not exist for the magnetic multipole (TE)
mode, as for g to vanish twice a distance h apart, along with dg/dx somewhere
between them, requires h to be, roughly speaking, half a wavelength.



